> A
N = 0l & At & Ml A
SA: DEHTY
E: FFI 2HY N
el EXEE XN (EMT S CER-ED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
nsHIY 17,822,161 20,235,077 A2,412,916
Al 3,466,500 3,466,500 0
- 14,355,661 16,768,577 A2,412,916
=dX 233 Mo 17,479,547 20,151,833 AN2,672,286
Al 3,466,500 3,466,500 0
- 14,013,047 16,685,333 N2,672,286
=XEd (=X SE23A) 17,378,307 20,050,593 AN2,672,286
Al 3,466,500 3,466,500 0
T 13,911,807 16,584,093 N2,672,286
SIFUE KA & 22| 91,473 90,173 1,300
403 A X EHS =0l A 8,754 7,454 1,300
02 BJI2SHUS =R AE AL 8,754 7,454 1,300
ONEOIFB2IZH STYFHE 22
23 8,754,000 8,754 7,454 1,300
SEFETE ZEAY 20,000 0 20,000
401 AIEHI XL 2CHYI 20,000 0 20,000
01 Al£ HI 20,000 0 20,000
OFEIS 79-20% L BYEHE THAY
HANEH B2 20,000,000 =14l 20,000 0 20,000
HeS 591-281X 2B SEFXUHE ZdSA 20,000 0 20,000
401 AIEHI L 2CHYI 20,000 0 20,000
01 A& dl 20,000 0 20,000
O3 591-281X SS=XE LM AAl
2 29 20,000,000& =14 20,000 0 20,000
ol gl Bl 10,283,510 12,997,096 A2,713,586
801 0l 8l 10,283,510 12,997,096 A2,713,586
01 etoildl gl 10,283,510 12,997,096 A2,713,586
Ogetolidltl 23 10,283,510,000& 10,283,510 12,997,096 N2,713,586
HY2HAH (ST ) 43,337 42,812 525
OHIEH(RSHFEMN)(FUHE SLEIH) 43,337 42,812 525
A2 MPAS(RSHEEY) 43,337 42,812 525
204 M= F Y| 1,838 1,313 525
03 EZYREH 525 0 525
ONZEEHAINHSLY "0I'S el @St
525,000 525 0 525
Heags(nsd ) 258,845 0 258,845
SENES(LS#HIE)(FXE SE3H) 258,845 0 258,845
BHEXNE NEMS (LSEHE D) 258,845 0 258,845
802 gHE = I EF 258,845 0 258,845
02 Al - SHIZEXSEHES 258,845 0 258,845
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SN XTI
Iu: FAEN HE
OR BUEI CE(FNIY SEIA) (29 a8)
SH - o(3H) - NEAMY - BES 0l &k o o1& o Hms2
Xtk ora ot 1,680,232 1,606,238 73,994
FAEM 2 508,433 478,713 29,720
SHFEXN HE(FHE SE3AH) 508,433 478,713 29,720
SHFEXES X 418,095 388,375 29,720
201 fEt2E | 285,004 284,284 720
02 3224l 227,017 226,297 720
OHss ANEE ME 2= 40,0003 60 32 720 0 720
405 TtatFH S 33,847 4,847 29,000
01 AL ESFH SH 33,847 4,847 29,000
OADE ZYZHH DHAAY
29,000,000 » 14| 29,000 0 29,000
HY2LIH (AR ) 1,171,799 1,127,525 44,274
QIHAEH(X AN (FHE SE3H) 1,171,799 1,127,525 44,274
QlHA2IHl NMSAL (XH&FQIA D) 1,171,799 1,127,525 44,274
101 @124 H] 1,082,342 1,046,993 35,349
02 JIEtEE = 604,240 568,891 35,349
OANZEEHAINHBRY "0 S (BEF T
et 5t) 473,852 447,181 26,671
o =0 dF 342,134,160& 342,135 331,176 10,959
o It &td| 33 5,476,870& 5,477 1,800 3,677
o Al2tel+g
2,117,200 0.55+1/209% 1.5+ 10% 12+ 12 12,035 0 12,035
ONLESHLIIMBL "0 S (CCTV g
L =X BEHEEX) 130,388 121,710 8,678
o =50 Z & 91,549,440 91,550 88,602 2,948
o It 4| Z & 1,464,460& 1,465 750 715
o Al2tel+g
2,117,200 +0.55+1/209% 1.5+ 10% 12«5 5,015 0 5,015
204 22| 41,857 32,932 8,925
03 EHZ 2R3 8,925 0 8,925
ONLESHLII B2 "0 S(SLF A
Eh=Bh) [HQI & SHI50,000% *35/40+ 128 12 6,300 0 6,300
ONZESHYIIHBLY "0 S (CCTVa 2 o
2 F=HX BEHEEZE) HY S
50,000 *35/40+12& 5 2,625 0 2,625




